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B 5 OHER CRHIES)

(B2 BT, %)

e 1 o HIORS WA HIORS A= 5l HIORS
2008410 H 6,914,811 =7.9 6,990,025 7.4 =75,214 -
11 5,323,503 —26.8 5,551,008 -14.4 —227,505 -

12 4,830,483 -35.0 5,152,710 -21.5 -322,227 -
200941 H 3,480,403 —45.7 4,436,429 —-31.9 -956,026 799.3
2 3,526,352 -49.4 3,443,694 -43.0 82,658 —-91.2

3 4,183,777 —45.5 4,174,687 -36.6 9,090 -99.2

4 4,195,808 -39.1 4,129,457 -35.8 66,351 —85.5

5 4,020,374 -40.9 3,723,534 —42.4 296,840 -13.0

6 4,599,502 —35.7 4,093,727 —-41.9 505,775 385.9

7 4,843,990 -36.5 4,466,525 -40.8 377,465 360.8

8 4,510,373 -36.0 4,328,810 —41.2 181,563 -

9 5,110,213 -30.6] (P) 4,584,920 -36.9] (P) 525,293 477.4

10 (P) (P) 5,308,867 -23.2] (P) 4,501,781 -35.6] (P) 807,086 -

(1) (P) 13,




B 5 OHER G K [E)

(B2 BT, %)

A o H TN A f O = 5l f O

2008410 H 1,206,451 -19.5 695,403| -11.1 511,048 -28.6

11 933,547 -33.8 567,933|  -17.7 365,614|  —49.3

12 901,132  -36.9 528,219  -20.5 372,913  -51.2

2009411 571,816  -52.9 439,113 -35.1 132,703  -75.3

2 556,587|  —58.4 410,518  —36.2 146,069  -79.0

3 665,655 —51.4 511,739  -27.5 153,916  -76.8

1 653,440  —46.3 453,198  -29.3 200,242  -65.2

5 643,975 —45.4 418,948|  -40.2 225,027  -53.1

6 766,118|  —37.6 488,733  -37.8 277,385|  -37.2

7 772,624|  -39.5 440,078  -34.9 332,546|  —44.6

8 713,082  -34.4 440,477 -38.4 272,605| -26.8

9 835,014 -33.9](P)  462,526| -34.3| (P) 372,488|  -33.5

10 |® 873,732 -27.6](P) 504,101 -27.5| (P) 369,631  —27.7

() (P) 130d i,

K5 OHeR (FTEU)

(AL 0. %)

A o H f N A TN = 5l f N

2008410 H 940,280 -17.2 583,946 -11.6 356,334  —25.0

11 710,203|  -30.9 533,235|  —20.7 176,968  -50.2

12 632,523 -41.8 517,679 -16.1 114,844 -75.5

2009411 522,018  -47.4 494,188  -23.6 27,830  -92.0

2 491,274|  -54.7 393,135|  -29.7 98,139| -81.3

3 515,739|  -56.1 469,228  -32.8 46,511  -90.2

1 555,605|  —45.3 419,836 -31.2 135,769  —66.6

5 524,412  -45.4 440,307|  -28.8 84,105| -75.4

6 560,545 —41.4 469,469  —26.3 91,076|  -71.5

7 558,811|  —45.8 455,127  —30.9 103,684  -72.1

8 514,326  —45.9 469,746  —24.2 44,580  -86.6

9 601,463 -38.6] (P)  469,299| -23.0| (P) 132,164|  —64.3

10 (P) [ 667,545 -29.0](P)  456,743| -21.8| (P) 210,802|  -40.8

(1) (P) 13,




o OHR (KT727)

(B2 BT, %)

£ A TN O TN o= 72 5l o=

2008410 3,389,435 -4.1 2,935,735 4.8 453,700|  -38.0

11 2,576,614  -26.7 2,410,470|  -12.5 166,144| -78.2

12 2,311,252  -36.5 2,269,378|  -15.7 41,874 -95.6

20094E1 H 1,617,556 —46.7 2,050,039|  -25.4 -432,483 =

2 1,783,642 -46.3 1,409,147 -41.5 374,495  -59.1

3 2,211,824 -39.4 1,885,335  —30.1 326,489 -65.7

4 2,288,751 -33.4 1,911,770 -28.4 376,981 -50.7

5 2,248,830| -35.5 1,653,471 -36.3 595,359  —33.4

6 2,507,987|  -30.1 1,858,554 -31.6 649,433 -25.4

7 2,699,843|  -29.9 2,001,739|  -31.6 698,104 —24.4

8 2,574,557  -30.6 1,882,069 —30.7 692,488 -30.4

9 2,805,052 -22.2) (P) 2,081,228 -29.1| (P) 723,824 8.1

10 (P) (P) 2,882,143 -15.0) (P) 2,055,111 —30.0] (P) 827,032 82.3

(1) (P) 1L A,

B 5 OHER o )

(BN ' M. %)

£ A TN O LTI o= 2 5l O

20084£10 1,159,587 -1.0 1,388,833 2.8 -229,246 27.8

11 855,447 -24.5 1,173,657 -12.0 -318,210 59.0

12 749,852 -35.5 1,105,092 -12.4 -355,240(  260.0

20094E1 H 511,270 -45.2 1,075,495 -16.2 -564,225 60.8

2 611,628 —39.7 598,474  -41.0 13,154 -

3 789,788 -31.6 965,682  —20.7 -175,894|  182.6

4 813,942 -25.9 992,779  -21.7 -178,837 5.1

5 815,059 -29.7 816,460 -32.0 -1,401|  -96.5

6 902,900 -23.7 899,812 -26.1 3,088 =

7 943,002 -26.5 998,136 —26.4 -55,134|  -25.7

8 884,355 -27.6 931,754 -23.3 -47,399 =

9 980,973| -13.8] (P) 1,048,784 -24.5] (P) -67,811|  -73.0

10 (P) (P) 993,432 -14.3| (P) 1,019,655 —26.6] (P) -26,223| -88.6

(1) (P) 13,




